thus wk 6 -

warm up: Find the flaw in reasoning

The sequence $\frac{1}{n^2} \rightarrow 0$ Series

Series

Sequence

Flow mixing up: series vs. sequence:

Ex.

Sequence

Converges

Converges

Root Test: $\lim_{n \to \infty} \sqrt[n]{\frac{(n+1)^n}{(n^2+1)^n}} = \lim_{n \to \infty} \frac{n+1}{n^3+1} = 0 \Rightarrow converges.$ Since 0 < 1The sequence $\frac{1}{n^2} \rightarrow 0$ Series

Sequence $\frac{1}{n^2} \rightarrow 0$ Sequence needs $\frac{1}{n^2} \rightarrow 0$ Converges

Needs $\frac{1}{n^2} \rightarrow 0$ The sequence $\frac{1}{n^2} \rightarrow 0$ Sequence $\frac{1}{n^2} \rightarrow$

Some Homework exercises: (10.4)

 $\sum_{n=2}^{\infty} \frac{(-1)^n}{n \cdot \ln(n^3)}$

n-th term converges b/c growth is slow

I converge absolutely (toke the abs. value of terms, new senes converge)

converge conditionally (alt. senes converges, but the positive one diverges

* converges only b/c of +/-

1) see: alternating, apply A.S.T. { then converge }

En. In(n3) } is docreasing for all n>2 b/c it's derivative is negative. $\frac{1}{1 - \frac{1}{2}} = \frac{1}{1 - \frac{1}{2}} = \frac{1}$

By ASIT. the given sever converges

2) Does it converge absolutely? $\sum_{n=2}^{\infty} \frac{1}{n \cdot \ln(n^3)}$ does this converge?

n.ln(n) < 1 / div. => companion test is unhelful =) use Integral Test

 $\int_{-\infty}^{\infty} \frac{1}{1 \cdot |x|} dx = \frac{1}{3} \int_{-\infty}^{\infty} \frac{1}{1 \cdot |x|} dx \quad dx = \int_{-\infty}^{\infty} dx$ $\int_{-\infty}^{\infty} \frac{1}{1 \cdot |x|} dx = \frac{1}{3} \int_{-\infty}^{\infty} \frac{1}{1 \cdot |x|} dx \quad dx = \int_{-\infty}^{\infty} dx$

(when other other tests fail)

 $=\frac{1}{3}\int_{-\infty}^{\infty}\frac{1}{n}\,dn=\frac{1}{3}\ln|n||_{\infty}^{\infty}=\frac{1}{3}(\ln(\infty)-\ln(\ln 2))=\infty$

By Integral Test, the positive serior diversis

Since alt. semes converged it's + version didn't = senes convergo conditionally

$$=\sum_{n=2}^{\infty}\ln\left(\frac{n+1}{n}\right)=\sum_{n=2}^{\infty}\ln\left(n+1\right)-\ln\left(n+1\right)$$

ogive Kth partial; SK

$$S_3$$
: $ln(4) - ln(3) + ln(3) - ln(2)$

$$S_{9}$$
; $L(S) - L(4) + ln(4) - ln(3) + ln(3) - ln(2)$:

$$\frac{1}{5} = \ln(K+1) - \ln(a) = \ln(\frac{K+1}{2})$$

what does S_k have to do with the convergence of the series?

$$=\sum_{n=2}^{\infty}\ln\left(\frac{n+1}{n}\right)=\sum_{n=2}^{\infty}\ln\left(n+1\right)-\ln\left(n\right)$$

$$|S_{2}; \ln(1+\frac{1}{2})|$$

$$|S_{3}; S_{2} + \ln(1+\frac{1}{3})|$$

$$= \ln(1+\frac{1}{2}) + \ln(1+\frac{1}{3})$$

$$|S_{4}| = \ln(1+\frac{1}{2}) + \ln(1+\frac{1}{3}) + \ln(1+\frac{1}{4})$$

$$| = \ln((1+\frac{1}{2})(1+\frac{1}{3})(1+\frac{1}{4}))$$

$$S_{y}: \mathcal{L}(S) - \mathcal{L}(Y) + \mathcal{L}_{1}(Y) - \mathcal{L}_{2}(Y) + \mathcal{L}_{3}(Y) - \mathcal{L}_{4}(Y)$$

$$S_{k} = \mathcal{L}_{4}(K+1) - \mathcal{L}_{4}(Y) = \mathcal{L}_{4}(K+1)$$

$$S_{k} = \mathcal{L}_{5}(K+1) - \mathcal{L}_{4}(Y) = \mathcal{L}_{5}(K+1)$$

$$S_{k} = \mathcal{L}_{5}(K+1) - \mathcal{L}_{5}(Y) = \mathcal{L}_{5}(K+1)$$

$$S_{k} = \mathcal{L}_{5}(K+1) - \mathcal{L}_{5}(Y) = \mathcal{L}_{5}(X)$$

$$S_{k} = \mathcal{L}_{5}(X) - \mathcal{L}_{5}(Y) + \mathcal{L}_{5}(Y) + \mathcal{L}_{5}(Y)$$

$$S_{k} = \mathcal{L}_{5}(X) - \mathcal{L}_{5}(Y)$$

$$S_{k} = \mathcal{L}_$$

